P 1 -

RAEFE T RKE2025F A 7
AT T B0 St

FFs KAz 4 "R He2
1 EHXO01 TAESE 70.95 1
2 ERLR01 B 70.10 2
3 EFLR01 H-55 5 66.45 3
4 EFER01 RS 62.80 4
5 K01 BN 62.40 5
6 EH K01 IR 61.45 6
7 ERLR01 ok A 59.40 7
8 EFLR01 Iy 22 4 59.00 8
9 BEHKO01 15 57.75 9
10 EH01 AR 2 50.80 10
11 EHO01 L 48.20 11
12 L) L& 48.15 12
13 B 02 SRR 76.75 1
14 EH02 M 75.35 2
15 R 02 A B 357 108 72.25 3
16 EHIX02 AE i s 67.00 4
17 BEHK02 #HHE 60.85 5
18 03 I ik 79.50 1
19 EER03 JE IR 79.40 2
20 EH03 4% % 79.20 3
21 03 )2 78.40 4
22 EHX03 =B:3 77.70 5
23 R 03 RSN 74.70 6
24 HHX03 5% 72.40 7
25 EH03 F& 72.40 8




FFs KAz 4 "R He2
26 EHR03 JE 62.00 9
27 EHK03 L IH T 58.80 10
28 01 HEFE 83.90 1
29 UM ix01 i b 83.40 2
30 M E01 iR 80.70 3
31 e =0 faf yk 80.40 4
32 ZUM 02 XIJAR 85.00 1
33 HUM 02 ERVL v 84.50 2
34 M R02 i 82.80 3
35 UM 502 SR ITiMg 80.00 4
36 UM =102 ] & ) 76.80 5
37 M 02 X1 76.60 6
38 UM 03 B A 85.90 1
39 M 03 BN E 81.80 2
40 #4103 X4 79.60 3
41 ZUME03 X1 7K 4 78.40 4
42 M504 SRR 71.95 1
43 HU 04 = 71.40 2
44 HU 04 JE 71.35 3
45 M =104 palfeshi 71.25 4
46 %104 ¥ B 71.10 5
47 ZUM =104 B Bk 71.00 6
48 HU 04 W in 69.95 7
49 HU =104 Gy 68.55 8
50 M =104 74 64.50 9
51 UM =104 BeFK R 61.05 10
52 UM 04 2R /N 58.90 11
53 F 04 P 58.25 12




FFs KAz 4 "R He2
54 UM =104 XS Bk 4 57.70 13
55 F 504 oK 53.30 14
56 M 104 FFE 52.85 15
57 HU =104 SR 52.20 16
58 UM 504 J& 1 49.50 17
59 UM =104 25 o i / /
60 ZUM =105 IR E 4l 73.45 1
61 AU 05 2595 67.20 2
62 M 05 bARES 62.25 3
63 UM 05 -} 4% 8 60.85 4
64 M1 05 =X 54.10 5
65 ZUM =105 ¥ i 40.70 6
66 HUM 06 EERIR/E 90.40 1
67 506 Ak 88.00 2
68 UM 06 I M i) 87.20 3
69 UM =106 R A 86.40 4
70 UM =106 gl 84.00 5
71 M =106 B 72 83.60 6
72 UM 06 JE AR B 82.40 7
73 M =106 A= e 82.40 8
74 M 06 BN 81.80 9
75 M =106 i = 78.60 10
76 07 2ol 91.25 1
77 =07 % 89.70 2
78 M 07 Bl J 87.30 3
79 07 FIOE 87.00 4
80 UM =107 DS =T 84.75 5
81 07 ZEFk 84.50 6

93U, T W




FFs KAz 4 "R He2
82 UM =107 XIJE 83.10 7
83 UM =107 S ERE 82.75 8
84 =07 genf 82.50 9
85 K07 ElSR 80.50 10
86 07 0 BEIT 79.60 11
87 UM x107 =B A 78.90 12
88 M08 i e f 90.00 1
89 FM 508 RV 89.80 2
90 M08 1 89.40 3
91 FUM 08 YR 81.40 4
92 UM =08 N adili] 77.80 5
93 M 509 2 [ B 91.44 1
94 FM 509 T 85.00 2
95 =09 PN s 81.28 3
96 UM 10 IRy 89.28 1
97 ZUmxi10 FEH 84.40 2
98 | HABLHKOL | ke 78.45 1
99 | HA T+ ix01 ARz 73.95 2
100 | HAh &+ X01 fi] I¢ 71.60 3
101 | HA &+ X 01 e 70.15 4
102 | HAh L <01 O T T 65.80 5
103 | HAL L <01 4> 63.90 6
104 | HAL L <01 B4 63.25 7
105 | HA &+ %01 BT W 55.00 8
106 | HAEHX01 | #hiliil 54.40 9
107 | HAh L <01 RE T T 52.45 10
108 | HA B 01 | x| PR 51.60 11
109 | HAh &+ X 01 H- /]8R 50.50 12




FFs KAz 4 "R He2
110 | HALEi =01 | far s 48.25 13
111 | HAh L <01 HH3C 47.55 14
112 | HA &+ %01 X4 45.00 15
113 | HAh L <01 i3 8 4 / /
114 | HABLHX02 | 2R 92.20 1
115 | HABEHX02 | JucHE 91.40 2
116 | HAhLHex02 | kA 89.90 3
117 | HAh L <02 UK 89.70 4
118 | HAth B+ X102 | AT 88.90 5
119 | HAhHEH X002 | Hic s 88.45 6
120 | HABHix02 | 2z 87.85 7
121 | HAh L <02 1Er 87.80 8
122 | HAh L5102 5 87.15 9
123 | HA &+ %02 AP 86.05 10
124 | HAWER 02 | i 85.60 11
125 | HABEH K02 | BT & 84.40 12
126 | HAMELHX02 | FIB/S 83.85 13
127 | A EH %02 | Wik 83.15 14
128 | HAh &+ %02 BT S 83.10 15
129 | HAh &+ %02 K FAT 83.05 16
130 | AL <02 525 82.80 17
131 | HAh LR 02 | JEx 82.80 18
132 | HAth B30 X102 | &K 82.75 19
133 | HA &+ %02 BE A0 82.00 20
134 | HA &+ %02 ZsHfatp 81.60 21
135 | HihBHix02 | x)j58 81.45 22
136 | HAh L8102 | #IfT4E 80.20 23
137 | HABEHX02 | 12154 80.15 24
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FFs KAz 4 "R He2
138 | HABEH K02 | Ekib 79.75 25
139 | HA X102 | ffusee 79.40 26
140 | HAth B4 x102 | &&E T 78.75 27
141 | HAh L <02 T A 72.00 28
142 | HARLE K02 | K& 5 / /
143 | Hih B8 03 | 240 91.20 1
144 | HA &+ %03 ] B 89.00 2
145 | HAh L <03 f= A 87.60 3
146 | HAh &+ %03 JE A% U 87.20 4
147 | AL HX03 | AhiRE 87.00 5
148 | HAh &+ %03 = 87.00 6
149 | HAh &+ %03 X R 85.60 7
150 | HAhE+:%03 B T 85.20 8
151 | HihEHixo03 | »mEZ 83.80 9
152 | HA &+ %03 A / /
153 SEEG 01 HYL 91.30 1
154 SEIG 401 B 90.90 2
155 SIS 01 4R 88.00 3
156 SEIG 401 F&E 84.70 4
157 I <01 SE{ 84.00 5
158 LA R<I01 %l 81.80 6
159 S 502 B i % 89.40 1
160 S 14502 XIEE S 85.40 2
161 S5 1% 02 BWE 84.40 3
162 SEIG 5402 SER 83.80 4
163 S5 1% 02 = 79.40 5
164 S <102 R 77.80 6
165 S5 1% 02 2 / /
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FFs KAz 4 "R He2
166 S55 103 BRE 86.80 1
167 5256 %03 Iz 80.80 2
168 SIS <503 EAICL 79.60 3
169 SEH 03 AE TR 70.20 4
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